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large discrepency for begining water status (332:111.0), set to 332 ml.
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06:50 273 150. 0 2.583 | ZE| TBE@06:50 Bz (KAL)
07:50 273 150. 0 2.583 = | {Ri%e07:50 Bz (REBEERSE)
08:50 273 150. 0 2.583 1% 008:50 Ha (REERE)
09:50 273 150. 0 2.583 1% @09:50 Bz (REAERE)
10:45 273 150. 0 2.583 %010:45 Bz (REERE)
11:40 273 150. 0 2.583 %011:40 Bz (REERE)
12:35 273 150. 0 2.583 % 012:35 Bz (REEREE)
13:35 273 150. 0 2.583 % 013:35 Bz (AREHEREE)
14:50 273 150. 0 2.583 %014:50 Bz (REERE)
21t 2457.0 (9K) 1350. 0 EWOHKEC: 1720, PH: 6.5




ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=77 (2025-06-14)

50— — T T
V1, VOHRY, ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET - 1500
1200 1232
LA ~
100 - 1050 Ro :
L 1000 ©
E
50 - 500 &
72 Warning: lcol ['FVI',|"FVO'] missing 82
-0
200
T
1150 €
=
F100 =
L 50 =
[T
0
U
0.8 -
0.6 -
0.4
0.2
Warning: lcol ["WC1',  "WC2'] missing
0.0
o5 ] OPtEC0=2914.0, setECB=1720 N
0.6 -
0.4
0.2
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=6.5 N
0.6 -
0.4
0.2
Warning: lcol ['PHB’,| 'PHC’'] missing
QO8— 1 4
BylInit!@Dgo 01:53: ET=1897 Fg=2400.0 Ro=470.0 3000
300 - : £
' =
| L 2000 >
200 - - E
1
! L 1000 iz
100 - ] E
[&]
—eo—l—o—o—
i e e ——
4087 01 11 2131215 1671718 ]9 liwolnliz[lia]mB 67809 ]212]22]°
i | B | B |Ze|2c|2a(Z25|55| B | 25|55 B FH PR | BA [/vda [/l | /ve [ | erl | s [ AP | BR[| AP - 3000
. 1 c
300 1ByEt @D77 19:38: ET=1511 Fg=1050. 0 Ro=nan ! s
" L 2000 >
200 - I E
'—
| L
100 4 1000 :
4087 01 1 1 2131215161718 ]o9Tiwolnliz]3alia]mBli6]17]8]09]2012]223]°
g 5 | £ z S E | E z FA [A A FA FA [A BA [/f| BB | KM || /m || /m| I 'J\Fﬁ—30003
300 - S
L 2000 2
200 - E
'—
| L
100 4 1000 :
1015 2 2 15167 0
08 A5 g | £ z S E | E z FA [A A FA FA [A BA [/ | BB | KM || m | DF|Dm || A
0.6 -
0.4
0.2
—_
o | _obs
—@— PPFD obs
(] RH_obs-rning: col ['RHo_obs'] is missing




m=430, FV0=0 m=485, FV0=0 m=565, FV0=0

26.51 _q ME - o IE 27. 50 - o ILE
27. 25 -
27 26.0 27.2 1
25.5
26 | 26. 8 26. 75 -
25.0 26. 6 26. 50 -
25
26. 4
—— ME |, ] 26. 25 -
T T T T T T T T T T T T T T T
400 500 600 700 800 900 430 435 440 485 490 495 565 570 575
m=635,m FV0=0 m=705,m FV0=0 m=780,m FV0=0 m=885,m FV0=0
27 6 - 27.75 -
50 - & ME ' —— ME —e— ME
27. 4 27.50 - 27.5 7
.25
27.2 27. 25 - 27.0
.00
27.0 27.00 - 26. 5
.75 7 26. 8
26. 75 - 26.0
.50 26. 6
ME | 26501 95 5 4
26. 4 °
25 T T T T T T T T T T T T
635 640 645 705 710 715 780 785 790 885 890 895
m m=430,m FV0=0 m=485,m FV0=0 m=565,m FV0=0
50 49. 25 4
—— MW —— MW 48.75 4 —@— MW —o— MW
47 1 49. 00
48. 50
48 46 48.75
48. 25
48. 50
] 45
46 48. 00
48. 25
7 47.75
44 ' 48. 00
43
41.50 1 47.75
400 500 600 700 800 900 430 435 440 485 490 495 565 570 575
m=635,m FV0=0 m=705,m FV0=0 m=780,m FV0=0 m=885,m FV0=0
49. 75 -
—— MW —— MW 49.75 4 —@— MW —— MW
25 7 49. 50 A 49 1
49. 50
00
49. 25 - i
49. 25 48
757 49.00 -
49. 00 - 47 A
501 48.75 1
48. 75 46
25 1 48. 50 1
48. 50
45
00 i T T T 48 25 B T T T T T T T T T
635 640 645 705 710 715 780 785 790 885 890 895
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P3-6

BfiE) | GEBATK () | ERE(EA/K) | ERERE (B/R) | XS R

05:40 273 150.0 2.583 FA| 1B2i%@05:40 B3zh (RAB{ERSE)
06:30 273 150.0 2.583 |Z=| {Ri&%e06:30 Bz (KREEZEHE)
07:20 273 150.0 2.583 |Z=| {Ri%e07:20 B (REEZHE)
08:10 273 150.0 2.583 |Z=| {Ri%e08:10 Bz (KREAEZEHE)
09:00 273 150.0 2.583 (£=| {Ri%@09:00 Bz (KRRAEZSE)
09:50 273 150.0 2.583 (£ =| {Ri%@09:50 Bz (KRAERSE)
10:55 273 150. 0 2.583 FA| 1B2i%@10:55 B3h (kAIEREE)
12:50 273 150.0 2.583 FA| 1BRi%@12:50 B3h (RABERESE)
13:35 273 150.0 2.583 FA| 1BRi%@13:35 B3h (KRAERSE)
14:15 273 150. 0 2.583 FR| 1BRi%@14:15 Bzh (kAEREE)
14:50 273 150.0 2.583 FA| 1BRi%@14:50 B3h (RABIERSE)
16:05 273 150.0 2.583 FA| 1BRi%@16:05 B3h (KAEREE)
24t 3276.0 (12)%) 1800. 0 EHKEC: 1720, PH: 6.5

large discrepency for begining water status (533:135.0), set to 533 ml.




ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=76 (2025-06-13)

150 A

100 A

50

VI, Vg, QI%I ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 139?23 85
1100

48 Warning: lcol [FVI',| "FVO’'] missing 79

. v

L TX

-._—.—r—-.— — g -

- 500

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2829. 0, setECB=1720

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=6.5

Warning: lcol ['PHB’,| 'PHC’'] missing
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400 -

200

]
Bylnit|@D80 01:53: ET=1930 Fg=2250.0 Ro=431.0

07 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
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i
ByWon:@DSO 01:53: ET=1285 Fg=1800.0 Ro=267.0
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1500 4 —

[ ] | _obs
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—— RH
[} RH_obs-rning: col ['RHo_obs'] is missing
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m=480, FV0=0

5_

M_E

4é5 4é0
m=785,n FV0=0

—o— M_E

7
i
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48 -

46 -
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600 700 800 900

m=665,m FV0=0
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.4 A

.2 4
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4 -

-o— MW

665 670 675

m=530, FV0=0
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26.75
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26. 25 A

26. 00 ~
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217.

27.
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26.

47.

46.
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48.

48.

M_E

555 5&0
m=835,n FV0=0

530

—o— ME

8&0 8&5
m=480,n FV0=0

835

—— MW

4é5 460
m=785,n FV0=0
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-o— MW

790 795

m=600, FV0=0
—o— ME
27.4 1
27.2 1
27.0 1
26.8 1
26.6 1
T T T
600 605 610
m=880,m FV0=0
27.50 - ME
97. 25 4
27.00 -
26.75 -
26. 50 -
26. 25 1-$ | |
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m=530,m FV0=0
851 o uu
48.0 1
47.5 1
47.0 1
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m=835,m FV0=0
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